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I) Answer any FIVE questions; at least TWO from PART-A, TWO from
PART-B and ONE from PART-C.
2) Make suitable assumptions whenever required.
3) Supplement your answer with neat sketches whenever required
PART A

- A steel tape was exactly 30m long at 20°C when supported throughout its length under 12

a pull of 10 kg. A line was measure with this under a pull of 15kg and at a mean
temperature of 32°C and found to be 780m long. The cross-sectional area of the
tape=0.03 cm?, and its total weigh=0.693 kg.a for steel = 11 x 106 per °C and E
for steel=2.1 x 10° kg/cm?. Compute the true length of the line if tape was supported
during measurement:

a) Atevery 30m

b) Atevery 15m

Name the basic surveying instrument used in surveying and mention their purpose. 08

Suggest and explain a suitable method of ranging when both the ends of survey lines 07
are not intervisible.

What are the various errors in chaining? P 06
List out the various parts of transit theodolite. 07
Briefly describe the following with neat sketch 10
a. Chain
b. Ranging rod
c. Arrows
. Briefly explain the classification of surveying. 10
PART B
. Make note on following 5% 3

a) Differential levelling
b) Fly levelling

¢) Check levelling

d) Cross-section levelling
e) Longitudinal levelling
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B. A level is set up at a point 150m from A and 100m from B; the observed staff reading 05
at A and B are 2.525 and 1.755 respectively. Find the true difference of level between
A and B.

A. Explain the concept of reciprocal levelling and also show how the error by reciprocal 12
Levelling is eliminated.

B. Explain how to determine height of object using trigonometrical levelling when the 08
base of the object is accessible

s

A. Explain in details on characteristics of contour. 08
B. The following offsets were taken from a chain line to an irregular boundary line at an 12
interval of 10m ’
0,2.5,3.5,5,4.6,3.2,0m
Calculate the area between chain line and irregular boundary line and end offset by
a) The mid ordinate rule
b) The average ordinate rule
c) The trapezoidal rule
d) Simpsons rule
PART C
A. With neat sketch explain the prismatic compass 12
B. The fore bearings of the lines AB, BC, CD and DE, are 08
45930’,120°15’,200°30" and 280°45' respectively. Find angles B, C and D.
A. Write a short note on following instruments: e 4x3
a) Abneys level
b) Box sextant
¢) Line ranger >
d) Planimeter
B. Explain the procedure for measuring horizontal angle by repetition method. 08
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